3N SR T ?ﬁ%;uﬁ-qj
110& 12731 (% 4 %

Hi=.+=
b3 3 B4 (1/1) &% B % (12/31) £ %
&2 255 (A=14243) 8,675,580 8,830,113
R &) 1,739,851 1,761,415
GERYPF=ZBL o - &R R T FED) 5,085,729 5,698,698
TAH - & R 2w AR (3) 1,850,000 1,370,000
BT RIRF A (B=4-51647) 75,054 159,996
s &R A (4) 5,085,729 5,698,698
aEERTARGHDFZ B 0L - &R TP Ei05) 5,085,729 5,698,698
s 4578 (6) 47,037 49,236
2 &R 28,017 110,760
edp p &g F (C=8-9+10+411+12-13) 6,580,032 6,716,248
e f i (8) 7,007,896 7,239,744
el O pdp T IR AT AR £ 2 97(9) 606,095 706,094
i~ i £ (10) 95,210 90,818
it % E 5D 238 309
e 2 FBEEE(12) 82,783 91,471
e 2 FREiEsg iy T A REER £239(13) 0 0
TR AR D) 136,282 81,586
7+ F & (E=A+B-C-D) 2,034,320 2,192,275
IR EZ AFERAE(FEDFIHZ PG rALZB PIDLTDFHE) RBERTAAT 3 HHPRF=2B2 ¢ 1> - Ep

P2 2 FERERTAET FAPF - B FH L T FAR

2 EH T RAFTAGHENEP P EHRAIREL MBS GARTR f I NBEARTA  BHE A ®P PRS- H Y Rk 4
RTA? Z BB 0t > - EpDH 2 Fan e
el A AL G AR R A HREZ B HAT > S8 B LG H A REE R R YR FREET
T % Bdp ALr AR AR AR £ 230 ¢
A:FAPHD YRV ARFEGIRT I AU BH T AP DS D REL R HAAIFTAL D > REF D RET R
PRE®E - ARAZHABFTAERD > ZEHRALEERVYT £ -
DIFHFEGHFRIEIRE: L h t BNV RRFT AL FEH FHRL GEFTAPH L F VARG RaFEFT
BRERTEY 2T 4 -
HLp
1:110# %4 (110/1/1~110/12/31) 8 % 7 * F £ 4RFE 8P4~ 3 40 1785, 79555, 000~ » 1 & (%% :
(D £ 2 255 2R F RE» St ARTES GG P Fier > HEL D HasRimEFge
g E T FEEH o
(DEPT RRTA @Y FREGFLFRAIRAFIRE KT AR RED A LR 4 -
(B e FHBL G ind R BFREP PRI BB UM R R AT £ T H e
(DF P ERF > KT *F & FAF LR A H e
211104 % 4 £(110/1/1~110/12/31) % &1 * ik 4e
Ay g (Hiz:+2)
* A 3,292,802
PRI F 3,764,008
Wz * 5 g 1,139,508
hElL 133,643
A8~ 47452 gl 1,133,370
mATERE (A1) 6,741
FE5 ~ A BA ~ A B~ FeRA () R
AR e are i e (R 1,143,629
e B7OR
A BB 2 iRG H 13,583
Hw 106
Adgst 10,627,390
AT AT R g2 L g 9,494,020




